THANK YOU!

Instructions and Limited
Lifetime Warranty

®

Quadratec iVault® Security Stereo Console

with External iPod - MP3 Attachment

For '76-'95 CJ & Wrangler #14026.215

NOTE: Be sure to read this entire instruction sheet before installation. This sheet outlines the installation of the Quadratec iVault®
Security Stereo Console with External iPod - MP3 Attachment for '76-'95 CJ & Wrangler Vehicles. Please make sure all required
hardware is present and proper tools are used for correct installation. DRILLING REQUIRED.

Contents:
e jVault Security Console
e Parts Bag

Tools Required:
e Electric Drill
e 3/8” Drill Bit
e Marker or Pencil
e Utility Knife
e 1/2” Socket and Ratchet
e 1/2” Wrench
e 3/8” Wrench
e 5/16” Wrench
e Silicone Sealant (Optional)

(7) 3/16” Washers Rubber Seal

(4) 10-32 Acorn Nuts
(7) 10-32 x 1/2” Bolts

(3) 10-32 Nyloc Nuts

(1) 5 x 16 x 3/4” Bolt

(3) 5/16” Nyloc Nuts

(2) 5/16"x 51/2” Bolts

(6) 5/16” Washers

Stereo Support Strap

(2) Seat Belt Straps

Rear Riser Bracket

NOTE: This console has been designed to be used in a stock Jeep application. Some fitment issues may arise if installed
in a vehicle that has been modified with a body lift, different transmission and/or transfer case and aftermarket seats. It
is the owner's responsibility to address these fitment issues. If vehicle is equipped with a body, lift the transmission and
transfer case shift levers may need to be bent to allow for proper fitment of console.

FIGURE 1. Using (4) #10-32x1/2” FIGURE 2. Attach the rear riser
Bolts, (4) 3/16” Washers, and (4) bracket by inserting two (2)

#10-32 Acorn Nuts, attach both 10-32x1/2” bolts through the ¥%”
driver and passenger seat belt holes on the bottom of the console.
support straps. Make sure to Fasten with (2) 3/16” washers fol-
place the washer on the outside lowed by (2) #10-32 locknuts. Make
of the strap. sure the bracket is square and flush

with the console before tightening.

FIGURE 3. Cut to length the rubber
seal and apply at the edge of the lid’s
interior and check the lock operation.



FIGURE 4. If you are not installing a
radio please skip to step 6.

Insert stereo assembly with
attached wiring and stereo strap
through the din slot. Fasten the
other end of the stereo support
strap at the 3/16” hole using a
#10-32x1/2” bolt with 3/16”
washer and secure with a #10-32
locknut. Connect all wires to the
stereo according to your stereo
owner’s manual. Stereo wiring
extensions may need to be fash-
ioned or purchased separately.

FIGURE 5. The metal stereo strap
fastens to console wall as shown. If
your stereo receiver features a rear
auxiliary input, a rectangular open-
ing is provided to allow the cord to
pass through the inside of the main
compartment.

FIGURE 6. Center the console
between the front seats and posi-
tion the console front and back to
a position that ensures there is no
interference with the transmission
and transfer case shift levers. Some
fold and tumble rear seats may
make contact to the back of console
when tumbled forward but it is
imperative that your shifter levers
and shifter boots operate without
contacting the front of the console.

FIGURE 7. Mark the carpet and floor
with a sharp pencil to determine
bolt hole placement. Hint: Place
strips of masking tape on top of the
targeted carpet area to help with
your markings. Pierce the tape with
a sharp pencil to transfer the mark
to the metal floor.

FIGURE 8. Remove the console and
cut small 1” diameter holes in the
carpet at your pencil marks. Drill
3/8” bolt holes at each of the three
markings. Make sure to observe
that nothing under the vehicle can
be damaged by the passing drill
bit.Use touch up paint or silicone
sealant around the drilled holes

if desired.

www.quadratec.com

FIGURE 9. Note: A second person is
necessary to assist with the final
installation. Place your console back
into position while running the seat
belt buckle sleeves through the
console’s side seat belt straps as
shown. Here’s where assistance is
helpful. Fasten the rear of the
console to the floor using (2)

5/16"x 5-1/2” bolts with 5/16”
washers on each. Place a washer
and 5/16” locknut to each bolt and
tighten. Fasten the front of the
console through using the shorter
5/16" x 1-3/4” bolt with washer
followed by a 5/16” washer and
locknut and tighten. Install rubber
floor mat to the console’s interior.
Console installation is now complete.




There are 3 MP3 cord management slots featured in your console to provide connectivity with security. MP3 devices can
be stored, played and charged inside the console without compromising overall function. Note: Hook and loop
fastener material can be applied to areas of your choice (not included) to position your mp3 device while driving.

QUADRATEC iVault® Security Stereo Console LIMITED LIFETIME WARRANTY

Your Quadratec® product is covered by the Lifetime Limited Warranty explained below that gives you specific legal rights. This limited warranty is the only warranty Quadratec Incorporated
makes in connection with your product purchase. Parts sold by Quadratec Inc. but supplied by other vendors are exclusively warranted by the vendor supplying the part. Quadratec neither
assumes nor authorizes any vendor, retailer or other person or entity to assume for it any other obligation or liability in connection with this product or Limited Warranty.

What is covered:

Subject to the terms, exclusions and limitations herein and with respect only to products first sold in the United States, Quadratec warrants to the initial retail purchaser only that it shall
be free of defects in material and workmanship for so long as the initial retail purchaser owns the vehicle on which these products were originally installed. All other express or implied
warranties are herby disclaimed. Your warrantor for these parts is Quadratec, Inc.,1028 Saunders Lane, West Chester, PA 19380. Quadratec reserves the rights to: (a.) require proof of
purchase as a condition of this Limited Warranty, (b.) make future revisions to its Limited Warranty without prior notice.

What is not covered:

Your Quadratec Limited Warranty does not cover products or parts supplied to Quadratec by outside vendors or products, parts or vehicles Quadratec determines to have been damaged
by or subjected to: Installation damage, alteration, modification or failure to maintain. Normal scuffs, fading, scratches, wear and tear. Racing or other vehicle competitions or contests.
Accidents, impact by rocks, trees, obstacles or other aspects of the environment. Theft, vandalism or other intentional damage.

Remedy Limited to Repair/Replacement:

The exclusive remedy provided hereunder shall, upon Quadratec inspection and at Quadratec’s option, be either repair or replacement of product or parts covered under this Limited
Warranty. Customers requesting warranty consideration on Quadratec branded parts should first contact Quadratec (610-701-3336) to obtain a Return Goods Authorization number. All
removal, shipping and installation costs are customer’s responsibility. Customers requesting warranty consideration on non-Quadratec branded parts should refer to the manufacturers’
Limited Warranty and contact them directly.

Other Limitations - Exclusion of Damages - Your Rights Under State Law:

* In consideration of the purchase price paid, neither Quadratec nor any independent Quadratec distributor/licensee are responsible for any time loss, rental costs, or for any incidental,
consequential, punitive or other damages you may have or incur in connection with any part or product purchased. Your exclusive remedy hereunder for covered parts is repair/replace-
ment as described above.

e This Limited Warranty gives you specific rights. You may also have other rights that vary from state to state. For example, while all implied warranties are disclaimed herein, any implied
warranty required by law is limited to the terms of Limited Warranty described above. Some states do not allow limitations of how long an implied warranty lasts and/or do not allow the
exclusion or limitation of incidental or consequential damages, so the limitations and exclusions herein may not apply to you.

© Quadratec, Inc. 8.18.2009. All Rights Reserved.

Page 3
www.quadratec.com



